[Connecting Accessories]

international common standard

Rod End Eye—U Floating Joint—F

Rod End Fork—Y Rod End Axes—I

Cast iron material

Cast iron material

@ Ordering Code

v s s

Bore size |.Rod End Axes Blank. standard style
Y.Rod End Fork F.Cast iron material
F.Floating Joint
U.Rod End Eye

Cylinder type

B Figure Dimension

@® Rod End Fork—Y ® Rod End Axes—| |

NE
NQ
ND ND
NP
NH
< @~
m o -
£ 8 f 33 o
g =3

NC

1/2



( Connecting Accessories)

international common standard

Bore na | e [ e [ o [ e [N NG NH NN [ a [ e [ na ] pa | e
2 19 | 20 [ 10| 4 | 52 | 15 20 |Moxi2s| 12 | 18 | 10 | 20 | 52 | 25 [ 195
40 254 | 24 | 12 | 48 | 67 | 24 20 |m2xa.2s| 20 | 23 | 12 | 24 | 62 [32.8[ 265
50 32 | 32 | 16 | 64 | 89 | 32 23 | Mi6x1.5 | 22 | 30 | 16 | 32 | 83 |39.3| 33
63 322 | 32 | 16 | 64 | 89 | 32 23 | mex15 | 22 | 30 | 16 | 32 | 83 [39.3] 33
80 444 40 | 20 [ 80 | 112 | 40 30 | Mmeox1.5| 3 | 39 | 20 | 40 | 105 |53.3| 45
100 44| a0 | 20 | 80 | 112 | 40 30 | Moox1.5| 30 | 3 | 20 | 40 | 105 [53.3] 45
125 55 | — | 30 | 110 | 155 | s0 56 | M27x2.0 | — | — | 30 | 54 | 148 | 64 | 55.6
160 70 | - | 35 | 144 | 201 | 50 72 | M3x2.0 | - | — | 35 | 72 | 191 | 80 | 70.6
200 70 | - | 35 [ 144 | 201 | 50 72 | mex20 | — | — [ 3 | 72 | 191 ] s |06
@ Floating Joint—F | Bore Malme|mc|mo|ME|  MF [ma|mH|Mmi[Mi] Mk
20 51|20( 6 [17] 8 | Mex1.25 [12|24[ 13| 8 | Max1.25
25 58| 22| 7 [21] 8 [Mm10x1.25[12 |26 |17 [ 10 [m10x1.25
MK M MF 2 58 22| 7 |21] 8 [Miox1 25| 12[ 26 [ 17] 10 [M10x1. 25
—SH w4 40 58|22] 8 [21] 7 [mi2x1.25] 12| 28 18] 12 [m12x1.25
- 13| § 50 90| 27| 10] 4112 Miex1.5 14 45|27 15| mi6x1 5
A fu\] ‘ t 63 90| 27[ 10|41 [ 12| miex1.5 [ 14 45] 27| 15| m16x1.5
J MG 80 102| 28 [ 13] 46 | 14| M20x1.5 | 18 | 53| 33| 22 | m20x1.5
MB MG, MD |ME 100 102| 29| 13| 46 | 14 | M20x1.5 | 18| 53 | 33 | 22 | M20x1.5
L 125 147|54 [135] 77 | 16 | M27x2.0 |40 | — | — | 24 | M27x2.0
160 251 72 [18 [161] 18 [M3sx2.0 [ 78 | = [ = [ 36 | M36x2.0
200 251] 72 [18 [161] 18 [M3sx2.0 |78 | - [ — |36 | M36x2.0
@ Rod End Eye—U
iz PE Bore PA|PB|PC| PD | PE|PF| PG PH PI|PJ| PK | PL |PM
— 20 8(12| 9(10.4/22|36| 47| M8x1.25 |17(16|12.5| 5 |14
=N ‘f\ 25 10[14[11[12.9[26] 43| 56 | M10x1.25 |21] 18] 15 [6.5[17
E‘EI_I @} 32 10]14({11|12,9| 26| 43| 56 | M10x1.25 [21|19| 15 |6.5(17
40 12{16(12|15.4| 30| 50| 65 | M12x1.25 | 24|22|17.5|6.5|19
\'"'/} . 8 50 16|21|15/19.3|38|64| 83| Mi6x1.5 |33|27| 22 | 8 |22
| s 63 16|21(15(19.3| 38|64 | 83 | M16x1.5 [33|27| 22 22
= 1 _ 80 20(25| 18|24 .3/ 46| 77(100| M20x1.5 |40(34(27.5| 10|32
| ét—l l><| l 100 20|25| 18|24 3| 46| 77|100| M20x1.5 (40|34(27.5| 10|32
*-:%l Fr 125 30| - [37] 36 [70f110[145| Me7xz.0 [s1]=| = | - |-
160 35| — |43| 41 |80[125/165| M36x2.0 |56|—| — | — | —
200 35|—|43| 41 |50)125/165| M36x2.0 (66| —| — | — | —

2/2



